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)
S57 9.10 9.13 0| 0.2 0.2 13 2| 15| 0| 0| 0|
5.9 0.1 3 T 0 T 0 0 0
0 73 73 100 6| 116 0 0 0
0 5.31 53 54 14 68 0 0 0
0 438 48 26 21 46 1 56| 0
0 1.7 1.7 16, 5 21 0 0 0
0 1.5 15 0 15, 15, 0 0 0
S61 8.2 8.10
6.94 0.39 7.33 75 228 299 1 35 o] 198949
534.36| 303 564.66 80 12 92 2 | o] 216,194
cll 0.08 0.08 20 15, 33 0 0 0 74,959
0.03 0.02 0.05 0 2 2 0 0 0 1,453
0 0.01 0.01 7 €I 13'| T 5 0 15,117
0 0.42 0.42 129 73 198 19 544 o] 794,120
7 0.08| 2.08 2 5 7 0 0 0 6,862
1.25 cll 125 0 0 0 0 0 0 117
563 7.28 8.1 0 0.3 0.3 35 0 34 0 0 0 7,325
0 0.05 0.05 3] 2 5 0 0 0 2,284
H1 7.24 8.7 10 10.95 20.95 71 29 7q 21 144 0] 273557
0 0.13 0.13 10, | 13 0 0 1 5,880
0 2.83 2.83 73[ T 59 | 17, 0 39,395
L 8.12 8.20 T 0.5 15 a4 0 a4 0 0 0 10,518
F3 62 8.8 0 o.:@l 0.36 60 10 59 2 30 0 77,332
H5 8.25 8.28 0| 0.03] 0.03 2| 2| 2| 0| 0| 0| 688|
0.7 0.01 0.71 T 0 T 0 0 0 304
F6 9.27 10.1 0 0.2 0.2 K| 0 2 0 0 0 769
H10 8.1 88
28.8 0.03 28.83 3 0 3 0 0 0 6,979
80 0.09 80.09 5 0 5 0 0 0 7576|
0.6] 0 0.6 0 0 0 0 0 0 0
H10 8.25 831 5 0.07 5.07 5 0 5 0 0 0 5,42-8|
0.6 0 0.6 0 0 0 0 0 0 200
H11 4.23 4.26 0 0.08| 0.08 il 0 il 0 0 0 6§|
0 0.02 0.02 0 K| K| 0 0 0 8,785
0 0.04 0.04 2 0 2 0 0 0 2,183
2 0.02 2.02 T 0 T 0 0 0 1,403
[622 74 6.6 0 6.6 0 0 0 0 0 0 36
9.13 9.25 0.4 0| 0.4 0| 0| 0| 0| 0| 0| 35|
31 0 31 0 0 0 0 0 0 155
10.27 0 0.51 0.51 7 2 10 0 0 0 15,650
10.28 0 0.03| 0.03 2 0 2 0 0 0 1,749
1.78| 0 1.78 0 0 0 0 0 0 838
H14 711 24555 2.09) 249.64 146] 20 164 0 0 of 218.]769
239.12, 774 243.86 72 17, 171 0 0 of 226.]l087
0.01 80 80 2 0 2 0 0 0 T, 2|45
H17 824 26 83| 3.49 11.79 5 3| 3| 2 56] o 195,
0 0.02 0.02 T 0 T 0 0 0 7 9
0 0.01 0.01 0 0 T T :EI 0 76, B30
0 0.02 0.02 2 0 2 0 o] 0 8 §r 4
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